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General instructions:

1. The Question Paper contains 3 sections.

2. Section A has 24 questions. Attempt any 20 questions.
3. Section B has 24 questions. Attempt any 20 questions.
4. Section C has 12 questions. Attempt any 10 questions.

5. All questions carry equal marks.
6. There is NO negative marking.
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Capital is not required in —

(a) Profession
(b) Employment




(c) Business
(d) Trade
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Which is not the objective of business?
(a) Making profit

(b) creation of customers

(c) Investment

(d) Innovation
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Which is not included in 'Auxiliary to Trade'?
(a) Animal Husbandry

(b) Insurance

(c) Transport

(d) Warehousing
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Which of the following is the most difficult business organization to
form?

a) Sole Proprietorship

b) Joint Hindu Family

c) Cooperative society

d) Partnership
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The capital of a company is divided into number of parts each one of
which are called

(a) Share

(b) Dividend

(c) Profit

(d) Interest
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The structure in which there is separation of ownership and
management as per law is called
(a) Company




(b) All business organisations
(c) Partnership
(d) Sole proprietorship
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A provides for the greatest degree of continuity:

(a)General partnership.

(b) joint venture.
(c) corporation.
(d) sole proprietorship.
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Public Sector Enterprises are owned by:
(a) Joint Hindu family

(b) Government

(c) Foreign Companies

(d) Private entrepreneurs
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The shares of a Government Company are purchased in the name of
which of the following?

(a) The Indian Government.

(b) The President of India.

(c) The Chief Minister of the state, where the head office of the
company lies.

(d) The Managing Director of the company.
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The funding of which of the following enterprise comes directly from
the government treasury, is under an annual appropriation from the
budget of the government and the revenue earned by it is also paid
into the treasury?
(a) Departmental undertaking
(b) Statutory corporation
(c) Government company
(d) Cooperatives
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Which of the following is true about statutory corporations?
(a) Statutory corporations are public enterprises that come into

existence by a special act of the parliament.

(b) Statutory corporations are subject to the same accounting and
audit procedures as are applicable to government departments.
(c) Statutory corporations are funded directly by the government

treasury.

(d) The employees of statutory corporations are civil servants.
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Statutory corporations are __

a) Private enterprises
b) Sole Proprietorship
) Public enterprises

d) None of the above
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Which of the following is not a function of insurance?
(a) Risk sharing




(b) Assist in capital formation
(c) Lending of funds

(d) All of the above
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In which type of insurance, loss is measurable?
(a) Life Insurance

(b) Fire Insurance

(c) Marine Insurance

(d) b and c both
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In which year Insurance Act was passed in India?
(a) 1940
(b) 1928
(c)) 1938
(d)) 1945
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It is not a type of general insurance
(a) Marine Insurance
(b) Fidelity Insurance




(c) Fire Insurance
(d) Life Insurance
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Which is not a service :
(a) Hair cutting

(b) Transport

(c) Book
(d) Recreation.
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Complaint lodged by a customer at the company’s call center is a type
of e-business transaction

(a) C2B Commerce

(b) B2C Commerce

(c) Intra B Commerce

(d) C2C Commerce
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The payment mechanism of e-business includes
(a) Cash on Delivery (COD)




(b) Net Banking
(c) Credit & Debit Cards
(d) All of the above
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Customers can interact with each other by using
a. B2B commerce

b. B2C commerce

c. C2C commerce
d. Intra B commerce
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Which of the following is not the social responsibility of business
towards investors?

(a) To ensure safety of capital

(b) To ensure proper dividend

(c) To ensure the proper utilisation of capital

(d) To give appropriate salary
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Which of the following is the social responsibility of managers
towards the employees:

(a) Providing clean working atmosphere

(b) Giving security of service

(c) Adopting incentive - giving system

(d) All of the above
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Companies have to be socially responsible to whom?
(@) Customers

(b) Investors

(c) Society

(d) All of the above
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Environmental protection can best be done by the efforts of
(a) Business people

(b) Government

(c) Scientists

(d) All of the above

Section-B
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'Fraud by Employee' is a type of business risk —
(a) Human

(b) Natural

(c) Economic

(d) All of the above
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Code of conduct exist in —
(a) Business

(b) Profession

(c) Employment

(d) All of the above
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In which industries many raw materials are mixed to produce more
useful products?

a) Synthetically industry

b) Assembling Industry

c) Genetic Industry
d) Primary Industry
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Which of the following is a true statement?

(a)The scope of commerce is narrower than business.
(b)Commerce includes trade and auxiliaries to trade.

(c)Internal trade is purchase and sale by the traders of the same
country.

(d)AIl of the above
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Which is Extractive Industry?
(a) Building construction

(b) Plantation

(c) Mining
(d) Textile
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Which is service industry?
(a) Sugar

(b) Cement

(c) Poultry farm

(d) Banking
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Liability of a shareholder in a company is:
a) Unlimited

b) Limited

c) May be Limited or Limited

d) None of the above
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For the following two statements choose the correct option:

Statement-I: Sole proprietor means a form organization in which there

is only owner of business.
Statement-Il: He himself manages and is the only receipt of all profits
and losses (risks).

Choose the correct option from the options given below:
(a) Statement | is correct and Il is wrong
(b) Statement Il is correct and | is wrong




(c ) Both the statements are correct
(d) Both the statements are incorrect

33.

U HEYTT HeT hT ATGHRT SaRT AMYOT J 2T &:
(T) STSIFAT g A ATAAT

(&) 3cuTeeh Hehry AfAfaar

(3T) faorer Feerr afafaar

(1) ShiST HgehRT FIATAAT

Such societies protect the members from exploitation by money
lenders:

(a) Consumer’s cooperative societies

(b) Producer’s cooperative societies

(c) Marketing cooperative societies

(d) Credit cooperative societies
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Which of the following is a type of public sector enterprise?
(a) Departmental undertaking

(b)Statutory Corporation

(c) Government Company.

(d)All of above
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Private company is related to which sector:
(a) Mixed

(b) Public
(c) Private




(d) Government
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Punjab National Bank is example of which sector:

(a) Mixed
(b) Public
(c) Private
(d) None of these y
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In Which Overdraft Facility is available?
(a) Current deposit account.

(b) Recurring Deposits

(c) Saving Deposit Account.

(d) Fixed deposits.
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What is the full form of WWW
(a) world wide width

(b) world wide work

(c) world wild web
(d) world wide web
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The insurer is liable to compensate only when fire is the of
damage or loss.

(a) Insurable Interest

(b) Proximate Cause

(c) Subrogation

(d) Utmost Good Faith
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Arun wants to open a bank account in which an amount can deposited
for a fixed period. Identify the suitable bank account for him.

(a) Fixed account

(b) Current account

(c) Saving account

(d) Recurring deposit account
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If a person has insured for Rs 7, 00,000. A fire broke out and the actual
amount of loss amounted to Rs 8, 50,000. How much amount can he
claim?

a 7,00,000.

b 2,00,000

¢ 8,50,000

d 1,50,000
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Services are those services which are used by business
enterprises for the conduct of their activities
(a) Business
(b) Social
(c) Personal
(d) Free
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For the following two statements choose the correct option:

Statement-I: B2B Commerce is that business activity in which two
firms or two business units make electronic transaction.

Statement-Il: Maruti Udyog buying tyres, doors etc. from other firms is
an example of B2B Commerce.

Choose the correct option from the options given below:

(a) Statement | is correct and Il is wrong

(b) Statement Il is correct and | is wrong

(c ) Both the statements are correct

(d) Both the statements are incorrect
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In which type of e-business transaction, both buyers and sellers are
customers?

a) B 2 B Commerce

b)B 2 C Commerce

c)C 2 C Commerce
d)Intra B Commerce
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it is that business activity in which two firms or two business units
make electronic transaction:

a) B 2 B Commerce
b)B 2 C Commerce




c)C 2 C Commerce
d)Iintra B Commerce
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The need for social responsibility arises due to the:
(a) Firm’s interest

(b) Interest of society

(c) Both firm’s and society interest

(c) None of the above
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Which responsibility of the business is not the responsibility of the
business to the government?

(a) Following the pollution laws as set by the government

(b) Establishment of the industrial undertaking as per the government
norms

(c) Providing after sales service

(d) Payment of the fees, tax, surcharge etc. with the honesty.
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For the following two statements choose the correct option:

Statement-I: Social Responsibility and Legal Responsibility are exactly
the same

Statement-Il : A better environment for doing business is not a ground
for social responsibility.

Choose the correct option from the options given below:

(a) Statement | is correct and Il is wrong

(b) Statement Il is correct and | is wrong

(c ) Both the statements are correct

(d) Both the statements are incorrect
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Read the following text and answer the questions number 49-54 on
the basis of the same:

Mohan, Shan and Rajesh are brothers living in a village. Mohan is a
farmer. He grows sugar cane in his field. Shan is manufacturer of sugar
who is doing the business with his friends Rohan Singh and
Jitender.Rajesh is a transporter. He sells the sugar in the city using his
truck. This year the sugar got spoiled due to heavy rain. Shan and his
friends reduced the wages of his workers to cut down their losses.
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What form of business is Shan doing with his friends?
(a) One Person Company

(b) Hindu Undivided Family

(c) Partnership

(d) SoleProprietorship
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Identify the limitation of the Shan’s business organisation highlighted
in the above case?

(@) Unlimited life

(b) Limited liability

(c) Limited resources
(d) Full secrecy
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Rajesh’s form of business organization is:
(a) One Person Company

(b) Hindu Undivided Family

(c) Partnership




(d) Sole Proprietorship
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Identify the Merit of business organization of Rajesh?
(a) Unlimited life

(b) Limited liability

(c) Unlimited resources

(d) Quick Decision Making
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Which document contains the written agreement specifying the terms
and conditions between Shan and his friends?

(a) Certificate of registration

(b) Partnership deed

(c)MOA

(d) AOA
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What type of business risk is faced by Shan and his friends?
(a) Pure Risk
(b) Speculative Risk




(c) Unlimited Risk
(d) Normal Risk
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A company has decided to donate 1% of its sales to an NGO, serving
mentally disabled people. This initiative by the company was highly
appreciated by the public.

Identify the objective depicted in the given example.

(a) Organisational

(b) Social

(c) Economic

(d) Normal
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Food Corporation of India (FCI) was established through special Act
Passed in Parliament in 1964 with the objective to create buffer stocks

of foods like wheat, rice etc. for emergency situations like drought,
flood famine etc.




Which type of public sector enterprise is discusses above?
(a)Joint Hindu Family business

(b) Departmental undertaking

(c)Statutory Corporation

(d) Government Company
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The main elements of a fire insurance contract does not includes:
(a)In fire insurance, the insured must have insurable interest in the
subject matter of the insurance.

(b)Similar to the life insurance contract, the contract of fire insurance
is a contract of utmost good faith i.e., uberrimae fidei.

(c)The contract of fire insurance is a contract of strict indemnity
(d)The insurer is liable to compensate only when fire is not the
proximate cause of damage or loss.
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Ajay Private Limited manufactures mobile phones but is unable to get




its parts. On the suggestion of its manager, Ajay Pvt. Ltd posted the
demand for parts on the Go4World Business website for purchase and
within two days a seller Company was found. Name the type of e-
business.

a) B2 B Commerce

b)B 2 C Commerce

c)C 2 C Commerce

d)Iintra B Commerce
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A husband bought a life insurance policy for his wife for 20 years. After
10 years he divorced his wife. Who will have the right to receive the
maturity amount if both husband and wife claim the maturity amount?
a) husband

b) wife

c) both husband and wife

d) not of both husband and wife
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An organization manufacturing pottery has been enjoying a dominant
market position since many years. It is removing untreated toxic waste
from the river banks thereby reducing many health problems for the
surrounding villages.

To which interest groups is it fulfilling its social responsibilities?
(a)consumers

(b)employees

(c)community

(d) All of the above




